
Lec 20

+ Coand system + integral example

Describe region bown sty'=1 and rary'+='=4 in cylindrical coord.

For fixed r - 54 3 as farted * Good for incegnation
We could ass do:

-662653
16r854-23
0 806 27

* SS in polar coord
Let f be cont. on disk D, do this to eval Sofia in pdlar coord:

Riemann sum- another way to slice

sample point
# (xt, y, *) = (rit cos Os, ri* cos 0; )

Height at point: f(rit cos Os, re* cos 0; )

Volume above rectangle a f(rit cos ay, ri* cos O;). Area (Aig)
= f(ritcos o,, ri* cos 0; ) . Fit it seAr

Riemann such:

So FdA = Jo '("fercost, reint) a dr

Is for barge enough in, this as rit

the Jacobion of the polar chauge of var

83+22=4

0<0≤27

fixi

Area (Aig)

Integral: do aka



# Vol compute examples
Ex
regicen bowen sty'=1 and

o just a name for the region
We had: #= {(r, 0.2) 12753, 164614-3, 050628}

VOCE) = SSS e 1 dv =

Ex
J-5 Do " do de de

Euduate SSRZy dA por R= {(r, 0) | 16162, 050613

= S.Jo Breino - drdo

Deable geometrically or by integrating
(x, y.a) coord, bit pelar

7 Gaussian distribution!
• é de

é categ'ses de dy = Jo
) do = 2T So I=527

caster

Ex

Eval

-00

•09 -00

-00

-27 - 00

-00
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